Math 372
Gommer gl 20245
Exam 1, June 30

No books, notes, scratch paper, phones,

Please show all your work and clearly mark your answers.
Problems are 6 points each except as noted.

If a problem is too hard, move on to an easier one.

No Calculators.
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1) Graph:
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2) Polynomial? Write YES or NO
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4) Graph y = (x - 4)* - 3.
Label ordercd pairs for at least 2 points.

5) Solve:
-~ 16x-20=0
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6a) Suppose glx) = 4x = 13,
FFind all x so that g(x) = 20,

6b) Suppose fix) -
Find all x so that A(x) -~ -1,
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7) See picture. The given graph is v = f(x). On a separate coordinate system. graph y = f{2x).
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8) Find the domain of:
a) fix) = Vx =10
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9) Suppose fix) = 3x* - 5x - 10

Find fi4 =
SRR 3(16) = S(Y) =10
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b) Find 4 + #) |
YY) - Sy 44) —lo

3(16+8h+L*) —20-Sh—10

10a) Write using inequality notation:

The value of x is between 10 and 135,
lo<dx €IS

10b) Write the same math sentence using interval notation:

(o, )§>

(/5’

*#-2

[Tsf/‘

Hsfz‘iln;g =20 =Th A
/3

Q +2&+:D




11) See picture

a) List all intervals where the function is positive.

b) List all intervals where the function is decreasing.

¢) What is the range?

e R

12) Write as a composition of simpler functions:

[—‘1, Q’j

hx) = VxZ — 16

L ()= & (.3f()‘\>

Fo)=x
g(x) = )c‘L-'é
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13) Convert 10 a mixed number: ——
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14)a) Graph y = x*

b) Graph y = x* Ny
— j)c
¢) Grap;h y=xh#
15) Graph: ) (8 pts)
y==(x)+6x+ 10
Hint: Find the vertex and axis of symmetry. €
Y = - 2,
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